ZSP-HDZ RE6E

Hyper:” ARSIy TE#DoEFA = === = . o]
WER. ALEENAOBRFMEGE, Do EHAS WRUENTI5y7TE, | 077 e |, LTS
B—5EER (SS400) BE, D FRS TN DT VREIH CERENTHTETY, |

‘ w1 e ———3

D

(@]

) —

*%ig% DN
0COWS

ZSP-HDZ =5

BA{RLmm

=g B 28 WURY  BR  YrYoB& BTRS
L1

TCL (P) THL NOF DCONMS L2

8M1.25R+0.1 | M8x 1.25 Pa+0.1 | 25pP 70 15.4 3 6.2 33.0 6,55 1 0
8M1.25R+0.2 | M8x 1.25 P4a+02 | 25P 70 15.4 3 6.2 330 655 1 o
8M1.25R+0.3 | M8 X 1.25 P4+03 | 25P 70 15.4 3 6.2 330 6.55 1 o
10M1.5R+0.1 | M10X 1.5 P4+0.1 | 25P 75 189 3 7.0 37.0 8.25 1 o
10M1.5R+0.2 | M10X 1.5 P4+02 | 25P 75 189 3 7.0 37.0 8.25 1 o
10M1.5R+0.3 | M10X 1.5 P4+03 | 25P 75 189 3 7.0 37.0 8.25 1 =
12M1.75R+0.1 | M12x 1.75 P4+0.1 | 25P 82 224 3 85 420 9.95 1 =
12M1.75R+0.2 | M12x 1.75 P4a+02 | 25P 82 224 3 85 420 9.95 1 o
12M1.75R+0.3 | M12x 1.75 P4+03 | 25P 82 224 3 85 420 9.95 1 =
14M2R+0.1 M14 x 2 P4+0.1 | 25P 88 259 3 105 46.0 11.65 1 =
14M2R+02 | M14x2 P4a+02 | 25P 88 259 3 105 46.0 11.65 1 0
14M2R+0.3 | M14x2 P4+03 | 25P 88 259 3 105 46.0 11.65 1 =
16M2R+0.1 M16 X 2 P4+0.1 | 25P 95 25.9 3 125 49.0 1365 1 =
16M2R+0.2 | Mi6x2 Pa+02 | 25pP 95 25.9 3 125 49.0 1365 1 0
16M2R+0.3 | Mi6x2 P4a+03 | 25pP 95 25.9 3 125 49.0 1365 1 0
18M25R+0.1 | M18x 25 P5+0.1 | 25P 100 326 a 14.0 55.0 15.15 1 N
18M25R+0.2 | Mi18x 25 P5+02 | 25P 100 326 a 14.0 55.0 15.15 1 o
18M25R+0.3 | M18x 25 P5+0.3 | 25P 100 326 4 14.0 55.0 15.15 1 C
20M25R+0.1 | M20x 25 P5+0.1 | 25P 105 326 4 15.0 55.0 17.15 1 C
20M25R+0.2 | M20x 25 P5+02 | 25P 105 326 4 15.0 55.0 17.15 1 C
20M25R+0.3 | M20x 25 P5+03 | 25P 105 326 4 15.0 55.0 17.15 1 C
22M25R+0.1 | M22x 25 P5+0.1 | 25P 115 326 4 17.0 55.0 19.15 1 =
22M25R+0.2 | M22x 25 P5+02 | 25P 115 326 4 17.0 55.0 19.15 1 O
22M25R+0.3 | M22x 25 P5+03 | 25P 115 326 4 17.0 55.0 19.15 1 O
24M3R+0.1 M24 x 3 P5+0.1 2.5P 120 38.8 4 19.0 63.0 2065 1 O
24M3R+0.2 | M24x 3 P5+02 | 25P 120 38.8 4 19.0 63.0 2065 1 O
24M3R+0.3 | M24x 3 P5+03 | 25P 120 38.8 4 19.0 63.0 2065 1 O

BUERIFEEF. P4:60~80um. P5:80~ 100umT9g [ ERIBETEER

HEIM R / BEEEEISKHE S UIHEER
— iR peA aem emmm <70z wm | TV mismomes| mas | Fevas
SSA00 | mpmm | oremm | Ererd SCM SCr & SUS FC ZE "acADC | cu Ti
S15C | S40C | S50C

~ 200HB | ~ 200HB | ~ 200HB | ~ 200HB | ~ 200HB |20 ~30HRC |30~ 40HRC| - - - - - -
Z8PHDZ ol o] o] o] o]l - - - oo | - | -
?ﬁ“ﬁ% 5~20 | 5~20 | 5~20 | 5~20 | 5~10 - - - 5~20 | 10~25 - -
HEETHME BEEERTKEE. KA KB - -

XBIDOTHATIN, PILZTZVLGEBIIAEETY O'&E OIEA — HELIEA



HoOEESEHRUDEDE(L

WHOECKDHRUDRINELIED . HRUZEREINTI T 27— /B A XDF Y THUECIEDFT
WHOEDEHZE t ETHEFESFMET 2t 1D BMETIE 4t /NELIEDTT

HIEHEDES

t
$HoER | 2t Y
AR
V3t
HOEDEH T
HO>EDEE t=0.05mm DIEE. 0.05mm X 4 =0.2mm INSWLWEHRICKEDDT
TERDYYVTHER +0.2 DA —/I\—HP A Xy TH#tEEINET
Iy TDRUTIUR
WERDOEFIAYVID TR, F—/I—H A ZXDELFUS. KELLTLREEW
B mm
. ‘ F—)\—IA O FREUILE
274 EEDOTIRRUILE = = = =
ZF—I\H A X+0.1 F—I\—41ZX+0.2 F—I\— 1 X+0.3
M8 X 1.25 6.8 ( 6.9) 6.9 ( 7.0) 7.0 ( 7.1) 7.1 ( 7.2)
M10X 1.5 85 ( 86) 86 ( 8.7) 87 ( 88) 88 ( 89)
M12 X 1.75 10.2 (10.3) 10.3 (10.4) 10.4 (10.5) 10.5 (10.6)
M14 X 2 120 (12.1) 121 (12.2) 12.2 (12.3) 123 (12.4)
M16 X 2 14.0 (14.1) 14.1 (14.2) 14.2 (14.3) 14.3 (14.4)
M18 X 2.5 155 (15.6) 15.6 (15.7) 15.7 (15.8) 15.8 (15.9)
M20 X 2.5 175 (17.6) 17.6 (17.7) 17.7 (17.8) 17.8 (17.9)
M22 x 2.5 19.5 (19.6) 19.6 (19.7) 19.7 (19.8) 19.8 (19.9)
M24 x 3 21.0 (21.1) 21.1 (21.2) 21.2 (21.3) 21.3 (21.4)

¥ AvIRIF SRRV EERLIIEETY .

NACHI

HRatt RN T

www.nachi-fujikoshi.co.jp

A1t Tel:03-5568-5111 Fax:03-5568-5206 RREEXRME-9-2 HBIEREIVI7F T105-0021

BUHEEF  Tel076-423-5111 Fax076-493-5211 EAHARHAR-1-1 T930-8511

f=£ 510

REAARXZH Tel:03-5568-5285 Fax:03-5568-5293 hHA 4t Tel:052-769-6816 Fax:052-769-6828 HFFREER Tel:03-5568-5190 Fax:03-5568-5195
JBEEER Tel011-782-0006 Fax011-782-0033 SELE  Tel053-454-4160 Fax.053-454-4845 W FEiE Tel03-6252-3677 Fax03-6252-3678
A= eSo Tel:0237-71-0321 Fax:0237-72-5212 JbREST IS Tel:076-425-8013 Fax:076-492-4319 HFFEE Tel:052-769-6911 Fax:052-769-6913
EEEEM Tel:024-991-4511 Fax:024-935-1450 FEEAZ Tel:06-7178-5101 Fax:06-7178-5110 HFFIEE Tel:076-424-3991 Fax:076-492-4319
JBEEE  Tel0276-46-7511 Fax0276-46-4599 hENERE Tel082-568-7460 Fax082-568-7465 #®7FRF Tel06-7178-2200 Fax:06-7178-2201
{EMNEZERT Tel:0268-28-7863 Fax:0268-21-1185 TS Tel:092-441-2505 Fax:092-471-6600

EolcEEDFURY Y —E R O TEETHE . STECHHVEDE AL,

—— ORI, FEEFB RO BIRFNE. AEES KU —HOEEMANBHNEDE L,

€9 0120-714-159 O BRI BIRFEEEBRELDITRBED DR —HEEIST TRMLEDEZE .,

OFNYO DERIGHE - IS A L OO FEBLEB T AT ENBOET, @NYOIBHABOEIGEH RV IE—3B<RELFT. CATALOG NO. 2512

The designs, specifications and/or dimensions are subject to change without notice.
Unauthorized reproduction of catalog contents is strictly forbidden. 2024.01.X-SE-SE




